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Fisher Hypothesis — Fisher (1930) 2
2
41.1
= a+p if +E (4.1)
Fisher Equation  Fisher(1930)
: m period
period
Etnl =1 -rr:n (42)

Et = expectations at time t

- inflation rate from time t to t+m
m-period nominal interest rate at time t
m-period (ex ante) real interest rate at time t
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period expected inflation
rate forecast error of inflation :
% =Em; + & (4.3)
= 71 m E(TT forecast error of inflation
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Z =iy -nr+ g (44)
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OLS Fama (1975)
t-1 t1
1 1
Fama
Fama (Pt1- P/ Pt
(P-PtD/PLl
412
-7 at+p (im-i")+ t (4.5)

Inflation Change Equation

(44)
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period (4.4)
¥l -]t (4.6)
(4.6) inflation-change  forecasting
equation
T = tA VL -6+ (4.7) = (45)
dM=r"-rn"1
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Repo & TBDC Government Bond Yield

Curve

Implied Risk Free Yield Curve

136,12
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TFB () =
Curve
TBDC () =
Bond Yield Curve

TFB( _ )=TFB (m)- TFB( )

TBDC(m_ ) = TBDC (m)- TBDC ()

1
TFB
. 2538 - . 2541
24
12 124 6 .
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TFB Implied Risk Free Yield

Repo & TBDC Government

= [(CPI%- CPI 0/ CPI,0*12 / *100

Gl () =
Cl() =
Gl(m_ ) = GI(m)-Gl(n)

Cl(m_ ) = Cl(m)-Cl(n)
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integrate
(spurious relationship) unit  root
integrate Augmented Dicker-Fuller (ADF)
integrate 10) stationary at level

Ordinary Least Square (OLS)

stationary at level 10)
(cointegration) Engie Granger
OLS residual unit root

cointegration

OLS

cointegration

difference
integrate OLS
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(in sample)
(out of sample)
Theil Inequality Coefficient
Naive model
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4.2 integrate

level spread

LA 7 Inflation = <+ P Yield + e Inflation Change =a + P Yield Spread +
25 Inflation = + P A Yield + Inflation Change =a + P AYield Spread +
36 A Inflation =a + P Yield + Alnflation Change® @ + Yield Spread +

g 7% Alnflation =cc + p AYield + 8
* cointegration 1*

A Inflation Changera+p AYield Spread + 8

cointegration
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WIRIALNT integrate A9tAB unit root

Run OLS

10) = 1(1) , I(1)-1(0), 1(1)-1(2),
1(2)-1(1), 1(1) = 1(1) , 1(2)-1(2)

nagauANLiie Cointegration

Cointegration i Cointegration
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Run OLS

Difference flauyls
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Run OLS
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